

$$r_a, r_a, a \rightarrow r_a, r_a, a$$

7

$$\frac{r_a + a}{r} = r_a \rightarrow r_a + a = r_a$$

$$r(r + a) = r_a \rightarrow r + a = r \rightarrow r - (r + a) = 0$$



5

$$a + a, a + a, a + a$$

9

$$a + a, a + a, a + a \rightarrow \frac{a}{r} + a, \frac{a}{r} + a, -1 + a \rightarrow (\frac{a}{r} + a)(a - 1) = \frac{1}{14} + \frac{1}{r} a + a$$

$$r = \frac{\frac{-r_0}{r}}{\frac{-r_0}{r}} = \frac{f_x(-r_0)}{f_x(-r_0)} = \frac{-f}{-a} = \frac{f}{a}$$

$$\frac{a}{r} a - \frac{a}{r} + a - a = \frac{1}{14} + \frac{1}{r} a + a$$

$$a = \frac{-r_1}{r}$$

10

الحل

$$h_1 = m_1$$

$$h_v \times h_1 (h_1)^r \Rightarrow m_1 \times m_1 = (m_1)^r$$

10

الم

$$h_2 = m_2$$

$$\Rightarrow (a + a d) \times a = (a + d)^r \Rightarrow v a = d$$

15

$$h_v = m_v$$

$$m_1 + m_2 + m_1 = v^r \Rightarrow a + (a + v a) + (a + 9 v a) = v^r$$

$$v^r a = v^r \rightarrow a = 1$$

$$d = v$$

20

25